ChemicalBook

of
=<
wn wA_
% &
@ s
2 o m
= =
0 = =
c . =
M o i L]
c Ui K
_._.__ (o] mo 00 el
< wl = = ol ooar
i) s Q 1] = of %
_ J 2
— & ° r o =
°© 2 : B @ 5 %
|_|| e w = M@ il B o_E ﬂb,l
=g d S w O ) o w0l
T 2 o W 2 =< R <
K] = o g or = S g = ol
2 .W. R0 s M 3 0 R = S
€ £ B oW g8 v 5 = oz
o 2 T E B RO S w 8 5 o =z
>~ ® @ ¢ ® B weR =
A RO £ = = ou £ = 2 or 3 AL
_..__.E ™ . 3 D 5 O 3 R D 60 o 1 oo
0J o K &) S w g = q o =< 0
= & R 0 2 i o1
—_ .. _.._m .. .. — N = S o
ilol ) iy @ _uu o = o 5
ol 0 o
o = z B ® = R
o3| =y H N RO — o g Jb B
AN ic ol g 2.
= - = = = m o a
< 00 T H ol m0 X E 70 Iy
B - X0 T 0 ms 5 B
Al o 160 __ﬁ w M oo_ﬁ | W=
= a1 o OF o B0 W w0 "w 5
HO w_ﬁ 2 ’ m P mm B ﬂ_ 1 oﬂ in = o
- i R ~ & 1. S =1 o™
KR weg L X IR X Lwon  &oW R oo &
= o8 o et v = = 1 = N =
ol oy M2 TS 0 F W S mL o5 _“|T = S I
7 < Hi0 & = o] S D = e 5 o
o3 weos oWy Z = OF o U8 5 w =% 558 555 fg
: o= R omw Xz Y owm . oon oW @ o & S 2w w0 R & w g 8
~— E A W & =< © © K & N N mow I3 J kX ES 5 Ao a5 oo

Cr;emical Book

ol Xt=0l1 X=g

—
.o

P337+P313 :


https://www.chemicalbook.com/ProductIndex_KR.aspx

0o

H Il

OHAIR

£ HJI

30l met wees/2o1

[=3]
=

=2

=l

nl
=

CHOI2

P501

00

it

J
o8

760
IH

K

s
IH
R
0
oF
b

1o

Ok

0o
3

4

4L

0
ok
o0
oK
KO

d.
(]

ol
IH
X0
X0

3-diethylaminopropiononitrile

B0
il

B0
00
il

~

g0

5351-04-2

0
O
K
KA

010

o
3

Ul

H

0o
3

4

oln
5
i
RD

I+

=

0l
&3
N

o
s

oD

ol
ar

oo
&3
4

O J1EF 2L AL =2 ALEY

00
3

n

_|

ol
100

F

FXHAL CH X

o

F

oll
Hr

) A 3HA

o)
R
Rr

X0

=
1o

U3
RO
ur
J

20
I+
Rl
Oy

ol

ol

o
33
1L

0l
53
i

Chemical Book



6. == AtIAl T

Il floll 2R

E B350

Jt. oAl

o
&3
4

00
&3
n

D
0
=
1[N
t
o)
RO

o
&3
4

il

10

K0

ok

Mo
i

0

D
KF
&)
ol

—_

0o
3

n

TI
70
K0
23
i)
Kl
oJ

0o
&3
4

[
Iy

oJ

oK

10
0l
H

ulo
Kk

Ll
H
&M
ior

20

4]

i
H
ol
2]
Ol
or
™

~

URE

ol
3%
4

KH
m
L
H
&M
fior
]
20

o
33
4

K

J
i
H

o
33
4

n
Bl
&M
ior
Ho
o)
Rl
Rr

0l
53
n

ot

ol

)

]
H

[0
ol

FAI2

CEHE JIM/AH L =el

LA/ H A

1of
i

H

LI L JIE

o =2

—
[

Chemical Book



FAI2

[[e]

ok

10f
H

4

FAIL

[[e)

KM
o

ol
of

ol

Kl
o)
Rl
Rr

9

It 212

L &M

0l
53
n

o
33
n

ct. pH

RO
J

RO
Ju
4

-63.9~-59.4 C

oF
il
R0
I
As
=)
RO
J
A8

_)
_x._

197 C

Ab. Q1 3HE

79 ‘C(at 1013hPa)

0o
&3
Il

A, 1A

154 (D

At el

0o
3

n

o)
1o
o)
20
ol
oF
0
o
Hr
)
=y

oJ

K

0lo
&3
Ll

It. 571

0.275 mHg (at 25°C)

Chemical Book



U1
1o

00

184200 mg/t (at 25° C)

LH
al

_J
Kio
=

0o
3

4

ot.HI=S

oo
&3
N

2 HH & (Kow)

H.nSEZ/

0.534 (Log Kow)

285 °C

0
o
S

I

)

0o
3

n

.S
[= ==

al.

1.8 (mPa s, dynamic, at 20 °C)

126.2 (g/mol)

0
0l0

J

oK
X0
RO

—_

oJ

0
Jo

or
0l
ol
)
Ok
ok
X0
RO
ol
Rr
ol

o1

0l
53
n

Ry
KA
ol

=
1o

=

o
35
1T

0l
53
n

R
Ul

o

0k
J

2

20

=
1o

I

00
3

n

il
%0
i)
)

0

A

iy
RO
i

)

00
3

n

H
R0
30
o
ok
A0

Al

Chemical Book



X0
ur
0
o

: Rat

LD50 <2000 mg/kg Al &S

=
R0

0o

ol
D

X0
nr

J

X0
<r
o+
o+

=

0

H

iio)
<0

oA A

X0

ol

T.H

0
of

o
33
4

X0

ol
=
il

1=

ol
33
4

0o
3

n

1Al

I+
o
H
00
E!

0o
3

n

IARC

[l
&3
n

OSHA

00
&3
n

ACGIH

00
53
n

NTP

0l
53
n

EU CLP

0o
&3
4

X0
0

Bl
H
<r
0

in vitro 2HEl2| 02l &

%0
E_.

<l
20

0o
&3
4

W
H
ol

X0
r
K0
Rl
=5
%0
ur

o
&3
4

Rr
=
R0
ur

o
33
4

X0
B
US
a
L

ol
33
4

60
30
X0

=
o

Ok

0o
3

4

Chemical Book



X0
r

Jb A4EH
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